2019/7/26 2-6 AR FE I BV IE

/ Android SRMASKotlinffaXE / HB— - 2-6 %ER - a 3
48
1. BAERR (/, IRENT R ~

TEF, XTFbindService()F5iEHRS MR RIS X IEH
gz () (E—Im)

bindService(it3, conn, BIND AUTO CREATE); EREsR: D fFA9ES: D
SERI
bindService() RIS I X ZIntent, ServiceConnectionF1487E it B sh Al AR S HIFRIC
fii;

A  bindService()HEIBE K X Rintent,ConnectionFIFFIL (I

B bindService()hty2 #ikR 2 £ FX, ConnectionF143ZERT B #0IERARSS AOHTFIT
1

C bindService ) IS #HRE LT, ServiceConnectionfI4E R B FBIRZIRS
HIFRIC AL

D bindService() i R ZIntent, ServiceConnectionFI4E R BRI IRS
AItRICAL

()

https://class.imooc.com/lesson/860#mid=21137 1/1


javascript:void(0);
javascript:;
javascript:;
javascript:;
javascript:;
https://class.imooc.com/sc/61/learn
https://class.imooc.com/
https://order.imooc.com/pay/cart
https://www.imooc.com/u/7993326/notices
https://www.imooc.com/u/7993326

